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| PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
| Then mark the correct choice on your answer sheet.

1- Those who fail to -------—- with the law will be fined.
1) resolve 2) comply 3) trigger 4) obstruct
2- A contract can be -=---- -—- by agreement of the parties involved.
1) declined 2) collapsed 3) disembarked 4) terminated
3- Over a period of years, the —-—-—- of the drug in the body will damage the nervous system.
1) allocation 2) compensation 3) accumulation 4) subordination
4- Firefighters needed modern breathing --------— to enter the burning house.
1) survival 2) criterion 3) apparatus 4) infrastructure

5- Adults, by ------=--- of their greater experience, are able to reason about more things
than adolescents can.

1} virmoe 2} vision 3) sphere 4) analogy
6- The tourist industry requires that the country’s cultural —---—- -- be made more accessible.
1) mode 2) asset 3) flaw 4) integrity
7- This car design makes the ----—---- use of the available space and so is better than the
previous one.
1) optimal 2) neutral 3) emergent 4) contemporary
8- They made a very ---------- decision; i.e. there was no common agreement on it, so they
have since regretted it.
1) diverse 2) eventual 3) successive 4) controversial
9- The evidence is detailed enough to -+==--=--= the author’s conclusion.
1) sustain 2) incline « 3)ecomprise 4) intensify
10- The andience listened as the scientist -====----- on her new theory.
1) conceived 2} expounded 3) committed 4) accompanied
= o m— ==

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or

(4) best fits each space. Then mark the correct choice on your answer sheet.

Supercomputers are the largest, fastest, and most powerful computers. There are only a few
hundred of them in the world. They consist of several processors, (11) - — can work on a
different part of a task (12} - same time and at the rate of millions of instructions (13) --
----- segond. They are used for extremely complicated calculations. Weather forecasting,
where a mass of data has (14) —------ quickly, is a good example of where a supercomputer
can be helpful. Data on temperature, pressure, wind speed and direction, rainfall, and cloud
cover is collected from (15) sites, and the computer sorts it, compares it with data in
1ts memory, and makes predictions.
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11- 1) that each 2) which each 3) each of which 4)each of those
12-1) at 2) for 3) at the 4) for the
13-1) in 2) per 3y at 4) via
14- 1) to process 2) processed 3) being processed 4) to be processed
15-1) a large number of 2) great number

3) large number 4) the large number of

e Y ey G oy e L o

IPART C: Rainnmn

the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer
sheet.

PASSAGE 1:

In this article, we consider the problem of constructing ¢onfidence intervals for a population
median when the underlying population is discrete. We describe seven methods of assigning
confidence levels to order statistic based confidence imtervals all of which are easy to
implement. A simulation study shows that with discrete populations, it is possible to obtain
consistently more accurate confidence levels and shorter intervals compared to the ones
reported by the classical method which is implemented in commercial software. More
precisely, the best results are obtained by inverting a two-tailed sign test that properly takes
into account tied observations. Some real data examples illustrate the use of these confidence
intervals.

16- Confidence intervals are constructed for -——-----=.

1) median 2) mean 3) variance 4) correlation
17- The related distribution is --------- -

1} continuous 2} maxed 3) discrete 4) unknown
18- What shows more accuracy?

1) proof 2) Intuition 3) Simulation 4) Guess
19- The best resulis are obtained by -------- =

1) T test 2) sign test 3) normal test 4) chi-square test
20- Tied ebservations are --------,

1} equal 2) distinct 3) complex 4) continuous
PASSAGE 2:

It is common practice to treat coverage probability as the only requirement for interval
estimation, This allows the use of one-sided confidence intervals. These achieve their coverage
probabilities by including parameter values with relative likelihood approaching 0. this violates
the law of likelihood, a post-data concept of statistical evidence introduced by Ronald Fisher in
1921. Coverage probability and the law of likelihood are both necessary for interval estimation,
but neither is sufficient. When combined, they minimize the possibility of users with the same
data, model, and confidence level getting different answers,
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21- What was introduced by Ronald Fisher in 1921 was -===-ea-- .
1) likelihood 2) concept of statistical evidence
3) coverage probability 4) confidence interval
22-To violate means ---------,
1) to refuse 2) to deny 3) to disobey 4) to vow
23- Coverage probability is a requirement for was ---=----- .
1) testing hypothesis 2) confidence interval
3) estimation 4) regression
24- What is violated?
1) Sufficiency 2) Consistency 3) Likelihood 4) Unbiasedness
25- What are necessary for confidence interval?
1) Sample size and length 2) Sample size and unbiasedness
3) Only distance 4) Coverage probability and likelihood
PASSAGE 3:

The simplest forms of regression and correlation involve formulas that are incomprehensible
to many beginning students. The application of these techniques is also often misunderstood.
The simplest and most useful description of the techniques involves the use of standardized
variables, the root mean square operation, and certain distance measures between points and
lines. On the standardized scale, the simple linear regression coefficient equals the correlation
coefficient, and the distinction between fitting a line to points and choosing a line for
prediction is made transparent. The typical size of prediction errors is estimated in a natural
way by summarizing the actual prediction errors incurred in the dataset by use of the regression
line for prediction. The connection between correlation and distance is simplified. Despite their
intuitive appeal, few textbooks make use of these simplifications in introducing correlation and

regression.
26- Incomprehesible means -------—-,

1) incomparable 2) difficult to understand

3) vague 4) easy
27- What is often misunderstood?

1) The application 2) Formulas 3) Techniques 4) Regression
28- The technigues include -—---—. :

1) random variables 2) median

3) variance 4) standardized variables
29-The relation between distance and correlation is ----- .-

1) simple 2) impossible 3) in some books 4) meaningless
30- Fitting a line to points and choosing a line for prediction are ----—- .

1) the same 2) impossible 3) not clear 4) distince
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